Practice questions — Year 4 — Measure

. 35cm + 250 mm = (measure)
. 4800 m - 2 km = (measure)

. 1200 mm + 1 m = (measure)

5 km - 750 m = (measure)

3 m + 400 cm = (measure)

. 2500 mm - 2 m = (measure)
. 6 km + 1200 m = (measure)

. 9m-1500 mm = (measure)

© Arithmetic Hub. All rights reserved.

-] x] =

Arithmetic Hub



Practice question answers — Year 4 — Measure

. 35cm + 250 mm = 60 cm or 600 mm (measure)
. 4800 m - 2 km =2800 m or 2.8 km (measure)

. 1200 mm + 1 m=2.2 mor 2200 mm (measure)
5km-750 m=4.25 km or 4250 m (measure)

. 3m+400cm =7 mor 700 cm (measure)

. 2500 mm -2 m =0.5 m or 500 mm (measure)

. 6km+1200 m=7.2 km or 7200 m (measure)
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. 9m-1500 mm =7.5mor 7500 mm (measure)
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